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KEEEHA FIA4 VICEISEBIER OKESEXE)

RETRELGK
Wk X5 =5 PI% H29 PI& H30 PI&E R7T PIfE ==L SHER
A101 TSSEERIESRIEE 0.66 0.65 0.67 (mg/L) EEBIEREEATY BEERATELIR
Al102 |BAHEEYEREKEEELR 0.0 0.0 0.0 (%) (BAHEEMBEERE/ KEE%E(E) x 100
A103  # NUJ\OAY > REKEELELE 27.0 22.0 27.0 (%) T (FaZKIE DR MNIN AR #a7K1E2R) / KEE#E(EX 100
A104 B (TOC) ERE/KERE%EL R 26.7 30.0 30.0 (%) T (WeKkieEHD (TOC) BE/ $a/Kie%R) / KER%{Ex 100
KEEIR A105 E&EREKEEAEILR 0.0 0.0 0.0 (%) T (HKIEDUZESBIEE HAKIEE) /KEE%EEX 100
A106 | SEHEBEKEERELR 25.0 25.0 20.0 (%) T (MK DU BRI/ 1A/KIEER) / K EE#(ExX 100
A107 BitEEREKEREILR 0.0 0.0 0.0 (%) T (FKIEDUEH LM ERRE #akieER) / KEE%EEX 100
— A108 |HBEIERYIEEKER%EIR 30.0 30.0 30.0 (%) T (MK DU BRI YRR #kigE)) / KEEAEx 100
A109 EREEKEEEREL 0.000 0.000 0.000 - max Z(Xij/GVj )
A201 |BKKBESRE 187 186 183 (188) FRAOKEEARIER R
A202 |fa7kiEKERE (BH) BFEE 9.9 9.9 9.9 (BFf/100 km?)  (FAZAKEBRE (BH) HUKERE/RER/KERE)%100
MESR TR A203  BLAHSERSEMER 30.8 31.1 43.7 (%) (SEMITER URE/CHEDSE / BRAHEDSE) x 100
A204 |EHERIKR 64.5 64.9 65.6 (%) (EREFAKIEER /487K F41) X 100
A205 | EPKMEKEISER 2.0 1.3 0.7 (%) (BF/KIEKIBIE R / BT /KAE/KIEER) x 100
B A301 |KIRDKESBHFEL 0 0 0 () FRKFKESE R
A302 #FRIEMRANIELER 0.0 0.0 0.0 (%) (BFRSE R ERIEK B/ ERTFKE) x 100
MEESE MESR T A401 SABIBKER 33.0 31.9 30.9 (%) (BABMA/KEERFE/HA/KEER) x 100
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RZE L=KDHE

Wk X5 =5 PI% H29 PI& H30 PIfE Ryt PIE ==Ly} SHER
B101 HCFEKERE 0.0 0.0 0.0 (%) (B 2REKEKE/2KEAE)x100
B102 EUKEIm iz DKEIRDIGELE 0 0 0 (F3/m?3) KBRS (CI8E U B A/ EREvkE
B103 iiFK= 0.0 0.0 0.0 (%) (I FokigkE / FRIEUKE)x100
B104 HE:&FIFE 47.2 46.7 45.9 (%) (—BFBKE/MEEEE ) x 100
B105 SAHMEE= 51.9 52.0 49.2 (%) (—BBABIKE/MEEREEH )% 100
B106 &k 91.0 89.9 93.4 (%) (—BFEEEKE/—BRARIKE)x100
B107 BUKEERZE 19.8 19.8 19.8 (km/km?) Bl/K R/ ARTEAA/K TS
B108 EBRSMBE 30.3 31.0 31.9 (%) (SR URERIEE / BIEE) x 100
HEER e B109 /JULJ gk 1.2 0.4 0.4 (%) (SR LTz ULTER / JULTEREBE) x 100
B110 FKk= 4.9 4.7 3.8 (%) (ERRKE / ERIBUKE) x 100
Blll AME 94.8 95.0 96.0 (%) (EREMKE / FRIFKE) x 100
B112 AIXX 92.1 92.4 93.1 (%) (FERIBIUKE/FRIEIKE)x 100
B113 |Fi/k:thiTegss 0.56 0.56 0.57 (=) EKEMSE/—BTgEKE
Bl14 fakAO—AZzbfikE 334 330 324 (L/8-A) (—BFEBIKE/IRIERKAD)x 1,000
B115 #A/KEIBRAZR 0 0 0 (=) ERAKEIRE
B116 fA/kEKRE 100.0 100.0 100.0 (%) (BT AO/#AK ISR A L) x 100
B117 RfEmiREEsR 18.0 17.6 16.6 (%) (FARHEERE M- BR - ST RIEBRDEETEN) x 100
EaEg B201 HkigsthEla 1.00 1.00 1.00 (#4/10 F-EFT) | 10ERIDZKSEIEBHIL / $KISH
B202 SE#KESHIK AR 0.0 0.0 0.0 (%) (SEERBEHTK N O/IRTEHAKAT) x 100
B203 Ak AO—A/z DETERERRIKE 95 94 94 (LN (FAKHENSEX1/2 + BEET/KIBSE)x 1,000/3R1THEKAD
B204 EROBHIEG 1.0 0.4 0.1 (f5/100 km)  EBISOBHE /( ERIER/100)
B205 EREWROEHIE 0.7 0.7 0.0 (#£/100 km)  EBEROBHE/ (BEERIEE/100)
EHEEMR | B206 #ASROEHNIES 1.0 0.4 0.0 (f5/100 km)  BHRHEROBLFE / (HREERER/100)
B207 | FESABEIROBHEIS 0.0 0.0 0.0 (#5/100 km)  JESAREIROEBHS / GEHRBIRILE/100)
B208 #AKEDEMEIS 5.3 5.3 5.3 (#£/1,000 )  #aKEOBHER / (KLY 1,000)
B209 #AKAO—AN/z DMK - BKIER 0.00 0.00 0.00 5) S(B7K - BKESRT x WK - BKEIEHAKAL) / BIERKAD
B210 s$¢ExIs3IRSHEmIER 8 9 10 (B %) RIS E N B HEEIER
B211 HNISREZE 5.2 5.2 5.1 (&/km) SHNARE / BUKEEE
B301 FKEIm3 LDEIEES 0.44 0.45 0.45 (kWh/m?) EHEREDA / ERIEKE
B302 fk®Im3 HIDBEBEIRILFE— 4.43 4.49 4.52 (MI/m?) IRILF—HESR / FREKE
- B303 iig;;m SiI=D—BfeRR (Co.) 237 244 244 (g-COy/m’) |[ZEtixZER (CO2) HEbiE / FRIBI/KE] x 10°
SRS a5 S InufE e = N ) =
B304 MAFAETRILE—FIMAE 0.00 0.00 0.00 (%) ffmbl*}b*_mﬁ@%b@mi/ ERROBHRAR) x
B305 kR4 TOEMFIAE 100.0 100.0 100.0 (%) (BFIALE / BKFRELTE) x 100
B306 EEREIEMIDUH A IILEK 100.0 100.0 100.0 (%) (UHA 2L ENEBEIEYE / EREIEYRESE) x 100
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ZE LT=KDOERE
DHE X5 =5 PI% H29 PI& H30 PI&E R7T PIfE ==L SHER
g | BAOL DUTTIVBRE - WEE 99.8 99.8 99.8 (%) (P51 IEHREIEE + WEILE) /| BIEEE] x 100
X B
> B402 |EEROHHE 0.13 0.06 0.09 (%) (BB ISR/ BISIEE) x 100
B501 A FERBE R KGR 0.0 0.0 0.0 (%) (EEMBEREBR T\ 2 KHERAE )/ 28 KhEa%EE /1) 100
SERET 2% TSI - BX - SHERREL EDES
B502 AEMAEIBAMAR 65.2 65.6 66.2 (%) CREMBFAEIT CLISHI - F5 - SRR coaita
— 1T, - B - SHEBEL S DEIE) x 100
X B503 | EEMAESBBERE 36.2 37.4 38.5 (%) CEEMAEREBR T\ 3 BIEE/SIIES)x 100
B504 EBISOEHTE 1.37 1.11 0.94 (%) (EF SN BRIEE/BIRIEE)x 100
B505  EEROELE 0.000 0.000 0.000 (%) (B SN/ BIITEE/BIRIEE)x 100
B601  RHRIDEKAbER 0.0 0.0 0.0 (%) (BUKREERE 7/ 29 K H6E%EES7) x 100
B602 E/KMERDME(LE 39.3 39.3 39.3 (%) (T SR ODME & IR K HEERAE )/ 2% K HEEREE ) x 100
o : (G - 3BEET BIROME(LRKEREES + 3 BOH RO
B602-2 KR X EHEEMIME(L = 39.3 39.3 39.3 %
PRIRDERBENMR o AP )/ 3P HERRAE] X 100 i
N I cau cau cau ) (lmoﬁfsdaa@fjﬁéntr_m/jFﬁam/rnﬁ,;{mgw/jFﬁam)><
R B604 |BLAME(LE 78.5 78.5 78.4 (%) (BRI N e RAE S S/ S E M E)x 100
B605  EHEOMEER 22.2 23.4 24.4 (%) (EBEE/SHEE)x 100
B606 |HHEBROMEER 46.2 47.2 49.1 (%) (EREROS SHESIEE/EHERIEE)x 100
B606-2 EHBBROMEEAE 46.2 47.2 49.1 (%) (EHBROS SMEEA DS 3 ERIEE/HSBIRIEE)x 100
B EAE SRR K ERO S STHESIE KR E K ST
= B607 EEHAKHERALKEBOMEEE 55.5 61.4 62.7 (%) Siﬁ?mﬁ SECKEIR0) S SIREIE &/ B Rie AR BT
i : (BEEEKEREKERDS SRR DS 3 BRI E/EBEK
B607-2 BB KIEREKEROMEESE 55.5 61.4 62.7 %
BB EREUKEROMEE (%) K EEER) X100
B608 (EEBISEIKEHRE 18.4 18.6 18.9 (%) (SHEREE TR T = BBUKAE/— B T8k E) x 100
I (TSR ERIETRS e — B A E) 3 (RS RS/
B609 ERMHEH 32.5 34.1 33.8 =
REREES & A — O ERE) D55, INENHOE
B610 MAEHEZEEH 0 0 0 ) TR R — DR R
B611 | [SREKNMEERERE 19.7 19.7 19.7 (E7R/100 km?)  IEEHA/KIERE (BRTEHE/KETE/100)
B612 fakERER 0.004 0.004 0.004 (8/1,000 A)  #a/KE%/ (BRTERKAL/1,000)
B613 BHADIKS > IREE 0.027 0.027 0.027 (M%/1,000 A)  E#ARAS > ODER/ (1K AO/1,000)
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BELGEXERE

Wk X5 =5 PI% H29 PI& H30 PI&E Ryt PIE ==Ly} SHER
C101 |EZUNZIE= 113.8 116.7 113.4 (%) (BN - FETBINR) / (SLBA- FEISHE) 1x 100
C102 @BEUNZIb=R 112.6 115.4 112.4 (%) [(E RN + BN )/ (B2 E R + B/ ER)]x 100
C103 |#UXszit= 106.0 117.4 112.2 (%) (HRUNZS/#EEF) x 100
C104 SEXiESIE= 0.0 0.0 0.0 (%) [RIERIED/ (ERINE — FETEINZ)]x 100
C105 f@ASEHE (UNZHIUASY) 0.1 0.1 0.1 (%) (IBRHTERAS/IRZEHIUNA ) x 100
C106 @AZLLE (BAMUIAS) 5.6 4.5 3.2 (%) (BARENERAR/EAMINAG) %100
C107 |HEE— ALz DHRKINZS 72,790 84,946 83,714 (FFH/A) FAKUINZS /B R B S %
C108 [#A/KINZICH T BMBHREEDES 22.7 11.0 10.3 (%) (WE RS E/HKINZE) %100
C109 #a/KINZE (CX T BB ENRDES 3.1 3.0 2.8 (%) ({BEEEFI S /487KINEE) X 100
C110 [#A/KINZS (T 9 BiRiEsED RS 17.8 17.7 18.0 (%) CRATEENER /487K UNZE ) x 100
cipy (ANEITTSERERDIOOER g, 93 10.0 (%) (MBI HO DR BB/ HKIRE) x 100

BEETSDIE

C112 #&/KINZE(CH T DR ERSDES 157.9 158.6 159.6 (%) ({BEEER S /4a7KINEE) x 100
C113 |P&muR= 102.7 105.3 102.3 (%) (FLE8 ST/ 487K BT ) x 100

B1%5 B Cl14 |{R#AE 162.7 162.4 161.2 (=/m3) faKUNER/ B IUKE

R [(REEA- (FH1IEE+ MARURERSARM+ MESEE+

C115 #&/KEfH 158.4 154.3 157.6 (F/m3) ERHIBEEA)] / EAEIKE
C116 1HB10 m*YrDRERRS 1,080 1,080 1,100 Ge)) 1 hA10mPY e DRERRNS
C117 1HB20 mPYE DRERRS 2,505 2,505 2,552 (M) 1 MA20m3Y iz DRERRE
C118 mEhtt= 459.7 491.5 421.2 (%) (RBNBE/REIAIE)x 100
C119 BECEAMMLEE 63.0 64.5 65.1 (%) [(BAZ+RIRE+ OIS HRIENE)/ &E - BRAFT 1x 100
C120 EEtt= 122.6 116.6 117.9 (%) [BEEEE/(BAS+RRE + AR +HREIRZE)]x 100
C121 |{bEEERTETRMENELLR 50.6 52.6 55.8 (%) (B R DIz DI EEE R TR/ SFERMIERE)x 100
C122 EEEELEmR 0.29 0.28 0.27 (=) (EEUINZ — FETBINE)/[CREEEEE + REEEE)/2]
C123 BT EEERSE 17.4 17.2 16.2 (m*/5H) ERIEUKE/ B EEERE
C124 ME—ANzDBEIUKE 448,000 523,000 519,000 (m*/A) ERIHREIUKE / BREEFERS
C125 MEFEKRBRDEIS 0.03 0.04 0.01 (/1,000 1) | ERMEFBERMAE / (Bl&FERM%8/1,000)
C126 |HEUUN= 96.7 96.7 96.8 (%) (BEMAZY F%8) x 100
C127 |#aKkfELEEIES 11.6 9.7 9.1 (/1,000 1) #&KIZIEAFER / (FGK4F£2/1,000)
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BELGEERE
4R X5 BS PI& H29 PIfE H30 PLf& R7T PIfiE Eify HER
C201 |/KiERfICBIT 2 EREUSE 0.66 0.75 0.80 (/N BB HEUS U CTUL\DKERAM (CEI T 2 &84 / IEEEK
C202 A\ ERAFHERFR 24.5 23.4 16.0 (BERE/N) (BEENIMEBFHEEZ (T ERBIX ZEAL) / 2FE2
C203 | NIBBAHERFR 10.2 9.6 3.1 (BFRE/N) (BENWEHMEE 2T TERIx ZEAL) / £HE%K
— AMER C204 |#ftiiE =R 52.8 54.6 60.2 (%) (BB 2% / RS2 x 100
Jue C205 |JKIEZEFEFITREREE 10.2 9.7 9.3 (F/N) B S DK ERTERERER / DS
C206 |EHREIIREEE 0 0 0 (A-B) S (ERRIMEES x HIEEE)
C207 ERHBHZAESR 0 0 0 (A-H) > (BB HZAEL x HEEE)
sepmer C301 1&REF|FEER 100.0 100.0 100.0 (%) (BFEUTTKEA—T—E /| KEAXA—-F—FREE) x 100
C302 BKIGEHE=EERTXR 0.0 0.0 0.0 (%) (BE=BFRFEUITRKIBOFKNEREE S / £8KHEEREES) x 100
C401 |ILERERIC K DIBERDIEME 3.9 3.9 3.8 (BB/14) LERERR E DELIREDER / fEKAFER
BRI C402 12—V MMCKBDIBEHRDIZEE 180 180 190 ([=1) T IR—ADIB O
C403 KR RFEIE 1.1 0.6 0.9 (A/1,000 N) |RZE&E#/ (GRTEREKAL/1,000)
HBEETFE C501 E=#~E& EMELTLVRWN | BEMELTLVRWL EEfELTLRW] (A/1,000 A) EZH A%/ (BEEHKALO/1,000)
MOA=1= C502 | 77> — NMESRINEEIS EHEL TR BELTLRL | BELTLWARW]  (A/1,000 A) P —REEAE/ (BRIEHRKAD/1,000)
g—>3> S C503 |Ei#EERAZE ERELTUVRLY | BIELTULVRL | L TLVRWN (%) (EESRARELY / 7> — ~No&E#) x 100
C504 [KEH—-EX(CHTIHERGEES 0.24 0.23 0.24 (/1,000 ) KEHY—EXEIERGHER / (faK{H42£1/1,000)
C505 |/KE(Cx T 2EIERGEE 0.12 0.11 0.15 (/1,000 ) | KEZIEIGHAER / (¥6K4H£2/1,000)
C506 |/KENECHTIEHBHLEE 0.00 0.00 0.00 (/1,000 ) KEREEEX SR/ (faK4H£2/1,000)
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